East Los Angeles College
Department of Mathematics 7. &

Math 261
Test 1

Show your work for credit.

Evaluate the following limits by using algebra.
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9. If 10 < f(x) < x? + 2x + 2 for all x, then determine lin% f(x)
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10.Determine whether the function is discontinuous or continuous at x =
0,x=1,x=2.
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11.Determine the intervals of continuity for the following functions.
f(x) = sin (x)y/x2 + 4x — 5
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12.Determine the intervals of continuity for the following functions.
Vx
fx) = 5=
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13. Show there is a root in the following interval (0,1) for f(x) = ¥x + x — 1

arey AN £ =1
<p
e xS hve
ey

. R ey C < COo, 1
0)\,9 N T “ove )

e N -‘g'Ch) = 0O -
Thus Pame Ll i sl

A

g&/



Math

ol TeSt. |

() liw w2+ < + o
X~» — 5 <2 4y —S
I wA (Y413 (&*}Q
e (ij‘{f Cx— )
;w 42
X~ —S T—\
i
) as S/
S| e L
(‘2—] ‘:M \(Bi—l
x-e —| ’('7-..,‘
- £
|+ =f) 6, = +4)
X~ ~(
(v_*/\,/&-!)
‘jM woe— x4
X e e~
CORREENER R
cr-t—ci
PSRN
| 1 1| ( _;é =




S— —

@) Liw —fc ) (4+(x)
X< \b x~—16 \ (4,’,_\'/!:)
[i toi = 3¢
b (a—1b) (44 v )
v ] (\c}/l/(,)
Kb C\cﬂ,&(ﬁ (4—*!("(8
I wr — |
N N 4+
MR
4+ e
i
- [ral
Aa4+a L hed
o TR o
&‘_‘7) i lx—94 |
Lo
I -4 | :\ x— 4 R, S, 1= 3
. cea
N o N, L
X4
;v =4 — | |

x w4+ — 4 .~ 41




x—0ot I /
: e e x2aq (Bt
A= X <0 ((afs)
[
oa oy A ERSESTRE R o=
o QT 8 e, Xwoot
RS AE AN
Avac v )
X Be ik ok BN
£ e X+
o =S i
: -
(iwn .= AV
x~ =-S5 S X
L
Lin =<+
x~e -G S 71'7(
LA -
Xv —S S¢
beals
L TR )
SX)




BT B
‘r. s
S
A
@) fren CSc () no Cho ) =
e W g S1=Ce)
w} !
= ol ) (i CSCG)
- oz
b ‘F - - X~y
r T )T b
2 T = (o0 )
“‘ \’
(2) tw 1o =(10)
. e
[owr Weldviyr = W +2: %4 A
Xw 2
= 4440+4+2




(‘0) [ wr ~Pex)

- [ — 4
e o
=3
Ry, 555l
(4 ) = l7‘+|_§
e R, L :
= 2§ s \— %
)
e NN L )
Nt
:p) L;wn ..S_(.&) - {-(r)} e oG ‘b\’\k\'\‘\u_g
x~¢ | at wx=1\
bw . B6) =\ i wTEwAg s DY 0N
<+ O K90 e
. )
F) = 0o+ 0~=S
= Lo
g
o hini Qe s fie) Y, SRR gerlibnee)
hoor Ry = S naC
a0
= 4421~
= beat
= (1)
=
G wy L T S Y
R T Bz

b ‘&) = DNE « e dlcenivagl e
<~ s

) A S




@

FGe) =Sinbe) | 4 -C

<P
(2

<L Ghe - 2] iy

(e 35 Yir=t) 32 O

L ke =4(=0 b,
(=>-<) x>, 0% ek
T R et t¥4S Y (e )
-+ 4 -l.. -—‘r:\ 36 b or ~+
& |
R 73“ - O | T 5 AT S 4
o N @ R
O
~.$ L
! e U Ctja)\’ )
(=) $6a) = (< xZQO
. x2—\ls
R e TR
= RGO Sy
e, D_)MM ~ ‘{&\ K?Ft45 $>j=_@
& e -
3
S 2
I OJ |

(e Lo, 4) U(d1w> )




@ ’F[“)‘:b‘{(( e 5 et auer Lo, 1]

€Y = 2(0 +0 —|

: =(—
N
by AmVT
£y > 3+ =
Alwe Q B (0,;)
WLt T ot
= SRR TR Rrey G
e 1

“PJ "G ’W& 2 Y‘Oc)+




